· Don’t forget that there is:
100cm in 1m
1/4m = 25cm
1/2m = 50cm
3/4m = 75cm 
1/10m = 10cm 
1000m in 1km
1/4km – 250m
1/2km – 500m
3/4km – 750m
1/10km – 100m
2.46km – 2,460m or 2km 460m 
· Rewrite 21-30 on the 2nd page 
· Square units mean count up all the squares. 2 half squares equals 1 full square 
7cm

· To find the area of a shape: Multiply the length by the width (e.g. 9cm

7cm X 9cm = 

If you have the area and need to find the length or width you divide
e.g. the area is . If the width is 9cm, what is the length?
 ÷ 9cm = 7cm 





· To find the perimeter of a shape: add up all the sides e.g. 4cm
8cm

8cm + 8cm + 4cm + 4cm = 24cm 

Don’t forget that opposite sides are equal in length.
All sides are equal in a square.
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22. Length
Mental Computation
Wite os centimetres (cm.

1. 1m 28em 2. 2m 34em 3. 4m 76cm 4. 8ma7cm
5. 136m 6. 268m 7. 3a2m 8 675m
Wiite os metres and centimetres (m and cm).

a. l68em 10. 203m 11, 408cm 12, 765cm
13 3tm 14 4im 15 6im 16 575m
Wite os metres using the decimal point.

17. 137em 18. 246cm 19, 308m 20. 586cm
Wiite os metres.

21 2fikm 2. 1fgkm 23, 33km 2. 4itkm
25, 2Am3s0m 26, km&70m 27, kmedom 28, Skm B30m
20, 246km 30, 3:58km 31, 46km 32, 672m
Wiite os km using the decimal point.

33, 2750m 34, 1970m 35. 3420m 36, 4690m
37. 2m36om 38 Km720m 39 4kmS60m 40, Gkm970m
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Written Computation

1 32m 2 428m 3 dm2Bem 4 B4Skm o 5. 176km
416m 3a5m im4bem 268km 349km
S15Im 06Bm  +2m 7cm + 16k +436km

6 1052m 7. M4bm o B 62Wm 4. 2745km 10, 832ekm
-B7m  -146Im  -375m - 1867km - 47:96km
M 206m 12 43m 13 578m 14 93km 15 6kkm
x4 x3 x6 7 8

16 3[528m 17, 5[035m 18, 7[a6m 1. 6[59km 20, als3km

Before doing these, write them in decimal form.
20, 3m 38cm + T3m + 4m 87cm

22, 2m 76cm + 175m + 5m 43cm
23, 1km 360m + 25 + 3km 590m
2. 4km 720m + 3fokm + Skm 780m
25 (Bm 72cm - 3T5mix &

26, (Gkm 240m - 3km 570m) x 5
27, (7m 80cm - 2m 35cm) + 5

28, akm 560m - 3km 140m) + 6

29, (234m + 3m 45cm + 175m) x 7
30, (3km 260m + 4-57km + 1 Tokm) x 8

Y
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A house s bm 57cm toll. Another house i 7m B5cm toll
What is the total height o the two houses?

A church spire is 23m 35¢m tall.
Another spire is 5m bcm smaller than that,
How tall is the smaller spire?

A wooden plank measures 2m 48cm in length.
What is the total length of 7 such planks?

A piece of rope dm 52cm long was cut into 4 equal pieces.
What was the length of each piece?

John s 1m S6cm tall. Joe s 1m 63crm toll.
Atreeis 5.47m toll. How much toller is the tree.
than the total height o the two boys?

Jim was painting a wall 26m 42cm long. He painted 875 metres
in the morning and 9-65 metres in the afternoon.
What length of wall had he still to paint?

Paul cycled skm 360m one day and dkm 780m the next day,
How far altogether did he cycle over the two days?

Sue set off on o 63k walk.
‘When she had completed 4k 690m,
how for had she still to go?

A racetrack is 3km 420m long. Sarah cucled around the track 3 times.
What distance did she cyele?

B
B\

Harry ran Gkm 320m. Hozel ran 175k less than that,
How far altogether did the two of them run?

The boy scouts completed a hike of Tkm 680m over 4 days.
1 they completed the same distonce each day,
how far per day did they travel?

Atope was fim 12cm long. Two pieces of 3m and 475m were.
cut off. What lenath of rope wos let?
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25. Area and Perimeter

Mental Computation
1. Wiite the area of each shape (i square uits)

@ ) @
@ © 4 ®
( ] N
2. Wite the area of each shape in em? i each square is @ square centimetre.
@ ) ©

3. What i the area of each of these rectangles?

@ T ®) - (© =
4. Find the perimeter of each of these shapes. (¢ —
@ — ) T .
©

@ 7
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Mental Problems

A ectangle is 7em long and Scm wide.
What i is area?

1

10.

"

12

Find the area of a garden
20m long and 10m wide.

A ectangle
What i is perimeter?

What is the area of a rectangular lown
12m long and 8m wide?

is Gem long and 6em wide.

What is the perimeter of a rectangular garden
13m long and 10m wide?

[

The area of @ rectangle is J6cm?.
Ifts length is dem, whot s its width?

Each side of o square measures Bcm,
What is the area of the square?

The perimeter of a rectangle is 24cm,
Ifits length s 7cm, whot s ts width?

Each side o o square measures 16
What is the perimeter of the square?

A square playground has a perimeter of 60 metres
What is the length of each side?

A toom is 5 metres long and 4 metres wide.
How much does i cost to carpet the room
ot €10 per squore metre’

A squore garden has o perimeter of 40 metres.
What is the area of the gorden?

o




